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61- Sorry, sir! my wife doesn t like the jewelry I bought last night. Would you please let me 

… to you?

1) call them up 2) give it back

3) give them back 4) call it up

62- Everybody knows that it is difficult to make a decision without … all the facts; therefore, we should think 

carefully about what we are going to do in the future. 

1) know 2) to know 3) knowing 4) knew

63- I … my homework yet, so I have to sleep later tonight. If I don’t do it, my teacher will be angry with me. 

1) haven’t done 2) was doing 3) have done 4) won’t do

64- My own problems seem … compared to my friend’s. He lives in complete unemployment, and also has a 

strange disease. 
1) uncertain 2) unnatural 3) unimportant 4) unavoidable

65- I must sadly say no to your generous … to take part in your son's wedding ceremony. I have to take care of 

my old mother. 

1) relationship 2) experience 3) difference 4) invitation

66- Everything in this shop is sold at a great … if, of course, you buy more than a certain amount. 

1) pottery 2) discount 3) measure 4) disorder

67- The comments from the customers showed that those who used the … were generally happy with the 

quality.  

1) products 2) habits 3) societies 4) weights

68- Film is … for those who are under the age of 16 because it is believed that films like this may give them a 

culture shock and emotionally hurt them. 

1) effective 2) sociable 3) forbidden 4) necessary

69- The American Apollo … brought rocks back from the moon that support the theory that the moon was once part 

of the Earth. 

1) happiness 2) mission 3) technology 4) message

70- Scientists believe that physical activities, particularly mountain climbing and swimming, … good health. 
1) create 2) rush 3) prefer 4) cause

 

 

 

Health is a/an …(71)… of complete physical, mental and social well-being and not merely the absence 

of disease. More recently, researchers …(72)… health as the …(73)... of a body to adapt to new threats. The 

best way to …(74)… health is to preserve it through a healthful lifestyle, rather than waiting until we are 

sick to put things right. This state of enhanced well-being is referred to as wellness. Peak health will be 

different for each person, and how you achieve wellness may be different from how someone else does. It 

may not be possible to avoid a …(75)… completely, but doing as much as we can to develop resilience and 

prepare the body and mind to deal with problems as they arise is a step we can all take. 

  )2( 15 
  

A Healthy Lifestyle
(Vocabulary 

Development, …, 
Writing) 

Art and Culture
(Get Ready, 

Conversation)
   61  86

PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 
on your answer sheet. 

   
                 .

PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. 
Then mark the answer on your answer sheet. 
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71- 1) translator 2) reality 3) state 4) emotion

72- 1) have defined  2) has defined 3) defining 4) defines

73- 1) reality 2) danger 3) ability 4) influence

74- 1) maintaining   2) maintain 3) maintained 4) maintains

75- 1) emotion   2) disease 3) formation 4) thought

 

 

Vincent Willem Van Gogh (1853-1890) was a Dutch painter who is among the most famous and 

influential figures in the history of Western art. In just over a decade he created about 2100 artworks, 

including around 860 oil paintings, most of them in the last two years of his life. They include landscapes, 

still lifes, portraits and self-portraits, and are characterised by bold colors and dramatic, impulsive and 

expressive brushwork. 

Born into an upper-middle-class family, Van Gogh grew as a child and was serious, quiet and 

thoughtful. As a young man he worked as an art dealer, often travelling, but became depressed after he 

was transferred to London. He turned to religion, and spent time as a missionary in southern Belgium. Van 

Gogh suffered from mental illness. He killed himself at 37. 

76- We can understand from the passage that … . 

1) Van Gogh was born in a family with a poor financial status

2) Van Gogh died at the second half of the 19th century

3) Van Gogh was very happy when he was a child

4) Van Gogh spent time as a missionary in London

77- Which of the following is NOT mentioned as one of the Van Gogh s painting styles? 
1) still lifes 2) portraits 3) cubism 4) landscapes

78- The second paragraph is mainly concerned with … . 

1) Van Gogh s painting styles

2) Van Gogh s interests and family

3) Van Gogh s personality and jobs

4) Van Gogh s activities in the last two years of his life

79- What does the word “them” in line 3 refer to? 

1) artworks 2) colors 3) figures 4) landscapes

80- Which of the following can be concluded from the passage? 

1) Van Gogh became depressed when he was in southern Belgium.

2) Van Gogh experienced more than one job.

3) Van Gogh had a long life.

4) Van Gogh had a healthy mind.

PART C: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the 
correct choice on your answer sheet. 
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